The Association of Corporate Treasurers CPD Entry Test

Equity and Venture Finance

Worked solutions

Question 1 

The proportion of equity, or internally generated funds, compared with debt in a company’s balance sheet can vary widely.  Which two of the following factors would you judge to be the most important in determining the appropriate proportion of equity?


A
profitability


B
asset intensity


C
risk of incurring losses


D
potential for future growth


(a)
A and B


(b)
C and D


(c)
A and C


(d)
B and D


(e)
don’t know

Answer

The right answer is (c) A and C

The level of equity is determined by the ability to be profitable enough to give an equity return rather than a debt return, and by the risk that losses may erode the existing equity.  Thus an advertising agency may be very profitable (in relation to its assets) but may also exhibit significant volatility in its profits as specific contracts are gained or lost.  Conversely a commercial bank generates very low profits (relative to its total assets) but due to its large portfolio of assets and its natural credit caution, is unlikely to make losses which will erode its small capital base.  
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Question 2 

You are considering the financial implications of a possible acquisition.  The target company is in an industry with an average beta of 1.08 and average gearing (debt : equity) of 30%.  You intend to gear the target up slightly more than that to 40%.

If the target is fairly represented by the industry averages, what will its beta be after gearing up to 40%? (Assume a 30% tax rate).


(a)
1.06


(b)
1.10


(c)
1.14


(d)
1.18


(e)
don’t know

Answer

The right answer is (c) 1.14
Using the formula:  ungeared beta, (u = (g * 1/(1+(D/E)*(1-t))

where 
t
=
tax rate


D
=
proportion of debt


E
=
proportion of equity





    (g    =  geared beta
The ungeared beta can be calculated as 1.08/ (1 + 30% (1 – 30%)) = 0.8926

Converting this to the new geared beta at the new gearing level:

0.8926 ( (1 + 40% ( 1-30%)) = 1.14

Answer (a) would have resulted from ignoring taxation.
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Question 3

Which of the following businesses are likely to have a higher than average cost of equity?

(a) Investment banks

(b) Food manufacturers

(c) Chemicals manufacturers

(d) Conglomerates

(e) Don’t know.

Answer 

The right answer is (a)

Cost of equity is higher for companies with a high beta

Beta is the measure of correlation between the price movement of a firm’s equity and the price movement of the market.  So a beta of 1 implies that, on average, the equity moves in line with the market.  The equity price of firms with Betas over 1 go up by more than the market and come down more than the market – again on average.  As there is a strong correlation between the market and the economic cycle we can conclude that businesses that do well in good times and badly in bad times will have a higher than average beta.  Investment banks fall firmly into this category, as do most commercial banks but they are affected less.  Conglomerates, almost by definition, have a beta around 1 given that they are almost a portfolio of various businesses.  Chemicals businesses are also typically around 1 because their business is so firmly entwined with the broad swathes of the UK economy.  Not surprisingly, food manufacturers have typically a lower than average beta as the demand for their products tend to vary less than the economy as a whole as the economic cycle swings forward and back. 

Manual VII Ch 2

Question 4 

From the following list, which of the following is the most important determinant of a company’s cost of equity?


(a)
gearing


(b)
profitability


(c)
economic environment


(d)
management quality


(e)
don’t know

Answer 

The right answer is (a) gearing

The company’s cost of equity is determined by the risk free rate, the market risk premium and the company’s beta.  Only gearing, of the factors listed, is a determinant of beta.

Manual VI Ch 2, Manual VII Ch 2

Question 5

Why are convertible preference shares frequently used by external equity investors as the instrument for their equity investment when funding MBOs?


(a)
they can provide a high return


(b)
conversion to ordinaries can give voting rights


(c)
for tax reasons


(d)
for accounting reasons


(e)
don’t know

Answer

The right answer is (b) conversion to ordinaries can give voting rights

As long as results are according to plan the convertible preference shareholders will be happy to stay in the background and let management manage. Management are effectively incentivised, it is believed, by ensuring that the business is theirs in that they own over 50% of the voting shares.  If forecasts are not met then conversion can take place (according to individual terms) so that the equity investors can gain control through their voting rights.  This allows the external investors, often providing the lion’s share of finance, to take control when things start going wrong.

There are many other forms of investment which can provide a high return; mezzanine finance, or other forms of equity.  There are no tax reasons for equity investors to prefer convertible preference shares.  The only accounting issue concerns whether the instrument is classified as debt or equity.  As these are equity investments for equity investors, this is unlikely to be of concern.

Manual VI Ch 4

Question 6  
You have just negotiated the sale of a small subsidiary to a management consortium, which narrowly outbid an industry buyer.  In order to ease their task of funding, it has been suggested that you might be willing to accept an element of consideration deferred for two years.  It has further been suggested that you might be willing to agree that this element could be subordinated to the senior bank debt raised to fund the acquisition.  A fixed interest rate of 9% has been offered which is considerably above the 5.5% deposit rate which you would otherwise expect to receive on the money over the next two years.

You are aware that the venture capitalists involved will be seeking an equity return of over 25%, mezzanine providers would typically require 17%, leaving the consortium’s cost of senior bank debt at 8%.

How would you respond?

(a) Accept the proposal agreeing to defer the consideration at the rate suggested.

(b) Accept the proposal in principle but argue to increase the rate to 12%

(c) Reject the proposal due to the accounting problems

(d) Reject the proposal on risk / return grounds

(e) don’t know

Answer 

The right answer is (d) Reject the proposal on risk / return grounds

The deferred consideration is intended to take the place of either senior acquisition debt or mezzanine finance.  You are being asked to accept a role which is subordinated to senior debt, i.e. significantly greater risk, for an extra 1% return.  The market price for this seems to be the price of mezzanine, i.e. 17%.  There is significant risk of loss in this situation, since your capital is more at risk than the acquisition senior debt, with similar ranking to the mezzanine finance.

The offered return is not great enough, nor indeed is the 12% suggested, compared with the mezzanine return.  There is a separate issue of whether such an investment would be within the investment policy for most treasurers, who may be required to invest only in “investment grade” opportunities.
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Question 7 
For an acquisitive growing software company, which is the most relevant measure of gearing?

(a) Net debt : net tangible assets

(b) Gross debt : net tangible assets

(c) Net debt : market value of equity

(d) Market value of debt : market value of equity

(e) Don’t know.

Answer

The right answer is  (d) Market value of debt: market value of equity.

Net tangible assets are likely to be misleading for a company with significant intangible assets possibly including goodwill.

Market value of debt is a better guide than book value of debt; the former will account for any interest rate management which might be in place.

Manual VI Ch 1, 2, Manual VII Ch 1, 3

Question 8 
When acquiring a company with similar growth characteristics to your own, equity should only be used as a consideration if which of the following applies:

(a) Earnings yield of the acquired company is less than current interest rates

(b) Your P/E ratio is greater then the market average

(c) Earnings yield on the new shares necessary is greater than your existing shares  

(d) No more debt is available

(e) Don’t know

Answer 

The right answer is (c)

Earnings yield and growth tend to be alternatives in that you can normally have one but not the other.  Where growth is anticipated, the current price tends to be bid up so that current earnings yield is reduced.  Thus, if you are acquiring another business with similar growth characteristics to your own then you would normally expect a similar earnings yield.  From the shareholders perspective, it would not be a good deal to issue new shares when the overall effect would be to maintain growth potential but reduce current earnings.
Manual VII 3, 6, 7

Question 9 
Your share price is currently 206 pence.  If your cost of equity capital is 8% and the relevant measure of return this year is 10 pence per share, what long-term rate of growth is implied?

(a) 1%

(b) 3%

(c) 5%

(d) 6%

(e) Don’t know.

Answer 

The right answer is (b)

Using the dividend discount valuation model, we have the formula

v = r * (1+ g) / (k – g)

where 
v = value in pence 

r = return in pence/share


k = cost of capital


and 

g = long-term growth rate

Inserting the values from the question:



206 
= 10 * (1+ 0.03) / (8% - 3%)
Manual VI Ch 3

Question 10  

Your company has zero long-term growth expectations.  Current share price is 194p, buoyed by a return of 15p this year.  Shareholders funds are £375M; debt (all at floating rate) is £125M.  Your market capitalisation is £500M.

You are considering raising £250M debt to buy back half all your outstanding shares (at no premium to the market).  You have been offered the extra debt on the same terms as your existing debt, i.e. 6.85%.


Risk free rate

4%


Your current beta
1.24


Equity risk premium
3%


Tax rate

30%

If you believe that the buy back would increase per share returns 10% to 16.5p, What post buyback share price would you expect?

(a) 141p

(b) 158p

(c) 194p

(d) 215p

(e) Don’t know.

Answer 

The right answer is (b) 158p

To check current situation:

Current per share returns are: 15p.  Using CAPM cost of equity is: 4% + 1.24 × 3% = 7.72%

So current share price is given by: 

15 / 7.72%
=
194p
- right so far!

Moving forward:
 

 Current beta is 1.24 and existing debt level is 1 debt: 4 equity (i.e. 125:500)

To estimate beta for new debt level:

Ungeared beta    (u = (g * 1/(1+(D/E)*(1-t))

where 
t
=
tax rate


D
=
proportion of debt


E
=
proportion of equity





    (g    =  geared beta

= 1.24 / (1+(1-0.3) * (1/4))




= 1.05

New debt level will be:
old debt (125M) + new debt (250M) = 375M

New equity at market value will be: 250M

So new debt:equity will be: 375:250, i.e. 60%:40%

Regearing beta for new gearing level

Geared beta
= 1.05 * (1 + (1-0.3) * (6/4))



= 2.15

New cost of equity
= 4% + (2.15 * 3%)




= 10.45%

If equity returns increase by 10%, i.e. 15 to 16.5p, 

then new share price will be 
= 16.5 / 10.45%






= 158p
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